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snounator(h S CxHife) (Quarterly Examination ) — 2024 C
3idlalweb (Science)

Class : 8 Marks : 100

l. Fflwneor aflemL_. 10x1=10 Choose the correct answer. 10x1=10

1. | 8) @sovesleor (c) kelvin

2. | ) GuhEer iemeoiH &I (d) All the above

3. | ) GW Slg (b) concave mirror

4. | o) Hiu@unapeir (a) Solid

5. | m) smiuedr (d) carbon

6. | 8) &by (c) iron

7. | <) eoibl_reredr (b) nitrogen

8. | <) &edrycempwicireron (b) influenza

9. | &) yGhomEs6r (b) fungi

10. | &) seunsd (c) breathing

1. | Gsmqr_L SLusewer Hadiys. 5x1=5 Fill in the blanks. 5x1=5

11. | eforq Gmigwiedr steradian

12. | @Qunpeir eesTilsoTen arH&UILL L Dicbevs the amount of heat gained or lost by a substance
SwHsUul L @euliusSlemeor

13. | coomi”_men6dr, <Dd &leneot hydrogen, oxygen

14. | ©ubGneofwm ammonia

15. | @e26Siqwib Sicvevg ST &@euiflwim Gelidium or Gracillaria

I | aflwr Sicbevgy seumn eteord GHDOIION_ (B, Houmy Say true or false. If false, correct the
ereoflov &flwneot o HemM 61(PGIS. (5 x1 = 5) | statement. 5x1=5

16. | &M True

17. | sum Sigms6qsmiser, GPS &@melaeflcy False, Atomic clocks are used in GPS devices
uwesTu(h HSVIV(H SledTmeoT.

18. | soum), unaresSHletT (HOWSEH Hg Db@GIb. False, Symbol of mercury is Hg.

19. | seum), S _nev Caseirai stesrm Gumi B whmup | False, Citrus canker is transmitted by air and
snhileotmev uTeySlimaE). water.

20. | & True

1IV. | Qunapdgs. (10 x 1 =10) Match the following. 10x1=10

21. | SledornsGasnemrid — &) eior”_@riq st Solid angle - c) Steradian

22. | senéGasneoond — 1) Griquiest Plane angle - a) Radian

23. | LibieioL_6b1 — FF) IDlcsTeNlonds @ Semp Tungsten - d) Making the filament of a bulb

24. | Gummmedt — 2_) e @aL erfl@upeiT Boron - e) As a fuel for ignition in rocket
UM HRIUMEOT

25. | ooml"_reRedt — ) @ _mib Nitrogen - b) Fertilizer

B. | o90fNGun &1ev@r - &) @heom &emauilemw Vibrio cholerae - ¢) Monotrichous

26.

27. | yGrmuwm 19 &6v — 2 ) eursGLIT Gulsveveiv Probiotics - €) Lactobacillus Acidophilus
S1I8GLmSleveio

28. | un&lser — FF) HbHamiy 2er” L 2 ullf] Algae - d) Autotrophs

29. | yGromaser — ) G smiy 2ar” L 2 ullfl Fungus - b) Heterotrophs

30. | GuBWsHemuSl — 1) BouldlGeorflm Phaeophyceae - a) Laminaria

V. | eflemLwef. 15 x 2 =30 | Answer very briefly. (Any 15) 15x2 =30

31l. | w&IYS CBANHS D S SereSlemeoréds Measurement is the process of finding an

@a&neor (), @O flung Sierellesr wSHluemud
seos S B CFwebuTCL SereiH W ESWD.

unknown physical quantity by using a standard
quantity.
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32. .
Pressure P = —
A
20
owssd P = ¢ _ 50
o X
) so6 2]‘5 x10
25x107* Solution:
Solution Pressure P = 20 x 10°N/m* (or) 20 4p
owssd P =20x10°N/m? (or) 20x 10* P

33. | smiuedl, cmamL” Te26dT WHMID hdEler6dt Carbon, Hydrogen and Oxygen

34. | @wmev ereTugl 6.023 * 10°° G1G6TEHM6TE Mole is defined as the amount of substance,
@amesor QuITpeflesT SieTomeuds & MBSME. which contains 6.023 x 10% entities. It is
88 'mol' eredTm (&ML meb & MDG&SIUE Hlmg). denoted as ‘mol’.

35. | 1. 6N plq &He6iT eunseomhiserfley Glesram & 1. Convex mirrors are used in vehicles as rear
Dlq &ML LILGTU(H SHledTmeoT. view mirrors because they give an upright image
SmaGaafliypb aisoembSmiuste Grmeor | and provide a wider field of view as they are
GQlbub LHMID SiGBSTH UMTemeU Hovdk s s curved outwards. . .
BHEGTDT. 2. _Th_ey are foun'd in the hallways of various
2. DBBEIDETHET, ShiED SNGHsT, buildings including hospitals, hotels, schools

. e . . and stores. They are usually mounted on a wall
udraflsdr wbgIb Srbismy.sefld Sewa or ceiling where hallways make sharp turns.
wesTu@ Elebrment. GUBbUTEID @ pi&hu 3. They are also used on roads where there are
QUCDOTOSHET GSITSOTL. HIL L SSIGT sioufesoir sharp curves and turns.

Diobovg s0corsailr Bibs g Hoir ( Any two)
@QuIpS&HUIUL L (H&ELD.

3. gremovselflesr Wlseyh (&miSlw whHmIb

HI_ULDTEsT euememey&eifled &6 <lq &oi

uwestu(h SlesTmeot. ( @@meob Syetor(n)

36. | g eoLWHEHHEGSID, (P&TEOIDE The distance between the pole and the principal
G&NWESHED SevL U L @aremevey @esw | focus is called focal length (f) of a spherical
@BTemvey (f) TEMILED. Gaors yiquslesr mirror. There is a relati_on betwe_en the_focal
&6 CBTEEHED. MIEHETe] DTSSDED length of a spherical m|rror_and its radius of_
SooLCU Q@ QBILIY 2_6ToTs). @S curvature. The focal length is half of the radius
QB TE6VEUTEOTS GUEDETE| WTSHSHI6v UTSIWTES of curvature. .

L. Focal length = Radius of curvature / 2
SH&H@GID.
GSMWOHTEm6EVE) = QIEDETE)| HTID / 2

37. | @auius &1L_§56v, @aulius Feveord, GeUTIUS Conduction, Convection, Radiation
&&liieS &8

38. | efifleuemL_gev, @euiublemev 2 wiiey, Hlemev Expansion, Increase in temperature, Change in
WMHMLD state

39. | &) Al - Sigibleoluib, ) Co — Gamumeur (@) Al — Aluminium, (b) Co - Cobalt
&) Ba — Guiflwib, /F) Br — yGrmbles (c) Ba— Barium, (d) Br - Bromine

40. | oo Boud) eflement ercdTUS) HlIHGHIIDTEODT, A chemical reaction is a permanent and
{BeIiTg; & 65T emIn 6oL DH D USWELINHemer irreversible change which produces a new
2_(Hounb&H&86.19.1U 6(IH MMHMLDMEHID. substance.

41. | srev&lwid Héem&EH WwHmID SmiuesT Calcium oxide and Carbon dioxide.

DL &Hom&(H

42. | S smiucdt eoL Dpdbend([h 2_evi UsfléaL Iq Solid carbon dioxide, called as dry ice is used as
sTeoIUB Hmgl. S8 & ofiieNiunemas a coolant.
uwesTU®R S &

43. | Qemmero@omquwid (4Grm”_ GL_n@&meur), Plasmodium (Protozoa),
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GWL_L 6y, aumhS), HHD HMiIFF

Nausea, vomiting, high fever.

44. | 869Gw_Ln, Gemm@igeev@ou_Lm, &GLnmBumqwn, | Ciliates, Flagellates, Pseudopods, Sporozoans
6Bun@rmBeneun (rBs5gnIb Sretor®) (Any two)
45. | un&lseir, udemEWID EENesoTL eT6rflemLoWITEDT Algae are chlorophyll bearing, simple and
@ IbU Hlewevd HHEMIY 2ert” L& STeuTihIsH6r primitive plants. These plants are autotrophs.
@b, S5 s1Gunsemur_ Lt Ofleoassmbss. | Aldae belongs to thallophyta and the plant body
S565T 2_L_oVlDITeDIS! BToved 6T60T of algae is called thallus.
Do &HHEUUB SDG). ASTEUG, ST
2 | ovneorgl Geuit, Hevor(}, E6meov 6T6TMD
Coumum_momsl.
46. | mesoremulliié @&nevel), 2 cworoy, Antibiotic, Food, Vitamins, Alcohol (Any two)
cmeul”_L blebraer, wguneonb (a@s5enb Sresor()
47. | 2 o seun&h, Geveflgaeounaid Inspiration (Inhalation), Expiration (Exhalation)
48. | ,682260r, DbHMOL Oxygen , Energy
49. | 2 u9fleorhiser QSM_iihg MPesSHEHS Metabolism is the sum of chemical reactions by
G omanuneT Sicnaiss Goudleflemeoraoiflesr which living organisms sustain their life.
@BTEGU ouemiflens wIHDD GTaTILED. Metabolism consists of anqbolism (the build up
aleTi&lemns wNHHD, suemt WIHDH of substances) and catabolism (the breakdown of
(@QUNBETSEMET 2_(HEUTEHEG6V) HDID Floms substances).
rHmb (EUN(HETHEMET 2_6mL &&6v)
S Slweuhemm 2 _erer_&&lwg).
VI | sampébswns oflcoL weflldsabd. (5 x 4 = 20) Answer briefly (Any five). 5x4=20
50. | ewiqw Sieomwiifiey giiieyBlemevulley 2 _crer Pascal's law states that the pressure applied at
SrcusSlesr o1rbsG\eNm Loremudlepin any point of a liquid at rest, in a closed system,
SeflSHEILED (WSS WNTE DisSITensSleor will be distributed equally through all directions
SIS G LioTeifle@eHd @D FONE of the IquId'. ) ) )
LBl HMBEILED cTeTuS) Levees aSlS. y In automobile service statlons2 th_e Veh1_cles are
© CES OIS O (8, U9 UM (@b lifted upward using :[he hydraulic lift which
. . .. works as per Pascal’s law.
vesflsmeors eifley aunsoThIGEMET 2 WIFd S * Automobile brake system works according to
uneosev eSlSluSleor SiqiuemL ulléb Swibi@ b Pascal’s law.
Bilweb 2 wisSlser Liesru® S50U[H SledTmeor. » The hydraulic press is used to compress the
- aunssconhiselfleb 2_drer Gousmss gomL (Speed bundles of cotton or cloth so as to occupy less
Break) iemiolil uneiogsey e1SluSlesr space.
SigUuenLWhleb GFweLUH HME). (Any two)
- UEH& DI6LEVG)] <ML HAT &S (& HDEUTeoT
BLHDG oL §G1E OQ&METEHD 6UemsUiIcH
SiouhHemm AHWHSUUL_ L Qunslsens
wiHDIeusHES Billuey Siwss
LweTUES5IUE S (TC5EID S (®)
51. | &) @it eeflésSlrmeos ueTueTiILTEDT, a) A ray of light, falling on a body having a

@wedremiowireot efl(Hid uTUGIesTBE LB bCUNE),
3151 U8 SisyiutuE Smel. Seleurmy)
seiflwneorg) usmueTUILNGDT, ©EILDGTEMLOIITEDT,
oeflpd urtiSleb ul_ B Spbyn HlepGeu cefl
e15l@Qnmofls H6b 61651 Siemp&H&EUIU[H Smg).

<) - &5l wHoIb uEYeTeflufley euemTtUL L

&58516Cs1H RS SiemardHIbd Cr HomsSHlov

SDIGOLDIHSIGTGTEOT.

o u(p CamemoT(d (i), eTHl@ITEfliyse Gamesor(pd
(r) etu@ungb swWIEE6U &IH G ID.

shiny, polished and smooth surface alone is
bounced back. This bouncing back of the light
rays as they fall on the smooth, shiny and
polished surface is called reflection.

b) » The incident ray, the reflected ray and the
normal at the point of incidence, all lie in the
same plane.

* The angle of incidence (i) and the angle of
reflection (r) are always equal.
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11

D e

Normal

Incident ray E Reflected ray,

52. | geir euliu abysdlmeir, C = Q/ mx AT Specific heat capacity, C = Q / m x AT
Brhue, Q = 82000] Here, Q = 84000 ]
T ko
1_11—._k3, - m = 2 kg
Al =re et = 0ne ‘*"”mmgﬂlm . AT =70°C - 60°C = 10°C or 10 K
C =84000/2 % 10 = 4200 Jkg K
x Tkg _ C = 84000/ 2 x 10 = 4200 Jkg' K-
Eifledr et eleutiL rbuSHlmett 4200 Tke K sy@ib.
The Specific heat capacity of water is
4200 J kg1 K-
53. L 2555 S NIGETTS Co ds Consititutent
Ladll 2_eherr geoflrkise mpoun Elements
i3} emamLTReT, Sy fmei Water Hydrogen, Oxygen
o . - Hydrochloric acid Hvdrogen, Chlorine
?'TGUH &@enniflé S P — Y ydrog
SiLieDLD Nitric acid Hydrogen, Nitrogen,
oL flé Suflevib f’—‘i"‘“i"“" . Oxygen
LSS, 558 Sulphuric acid Hydrogen, Sulphur,
Sh&HS Mblenid COADLORST, Oxygen
HhHSHBLD, & Flggeir
— - — - - Acetic acid Carbon, Hydrogen,
2f 19 & sudleold ST LG0T, 6mEuDLIT £260T, i ) o
(efeonasi) oy siggen inegar xXygen
54. | smbméEpedesr Swbilwuey, GeudHufwev whmud | An unwanted change in the physical, chemical
2_uiflweb ussoryseficy eN(HIbUSSETS and biological properties of the environment is
mbmbiseT abhul_(Keu@s wr&u[H&6v eTeTiuBb. called pollution.
QUCHEBHOT: TYpES: .
SNDHD LIFUNE Air pollution
. Water pollution
i wr&unp -
Land pollution
1Blev r&un(y
55. | @) e18lii 2 19iEH@smeLed) eresTUsmEY M a)Antibiotic is a substance produced by living
2 WSfleoThis Oh (S b &6 2_oiTem organisms which is toxic for other organisms.
2 W9lfleoriusenmeb 2 (HeumdsUu(h b o
@UN(H6T&6MTEGD. b)1. Penicillin
=) 1. QU FloSlesr 2. Streptomycin
2. eiol”_@rtIGLremw & 6ot
56. | sflcbeumbgeio Siwnreio (B @mHeLed)): Phyllanthus amarus (Keezhanelli) :
- &&H65T BT 2_1_ovlb (1p (IPOUGID 1DGHE6T * The entire plant is used for the treatment of
&monemev GpHmild @ WIHHGHMEHU LWETU[RSIDG). jaundice.
. 851 H60eSTRIHE, uedleOEILS QSTHSE, « It gives additional strength to human liver and
B60ST6r GEMUBEBESE LBHSIS it is used to treat other liver disorders.
LWGTUEE Aloe vera (Sothu Katrazhai):
Goor @ DSk @ & . * Leaves of this plant is used to cure piles and
SiGour Glaugm (Combpids Sbprem): ] inflammations on the skin.
* 850 Sevovsar epeuEpmi HDID Ged « It cures peptic ulcer.
uGSlleb CanesTmIb SipHE oW
GOTUIUE S8ISleTmeoT. - &g euuilbhmit
L68or 185 & T D (BHSTSHID-
Vil. | efiflans ellemLwefldsab. (4 X 5 = 20) Answer in detail. (4 x5=20)
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Z) Position of the Object Position of the Image Image Size Nature of the Image
At infinity AtF Highly diminished Real and inverted
Beyond C Between C and F Diminished Real and inverted
AtC AtC Same size as the object | Real and inverted
Between C and F Beyond C Magnified Real and inverted
AtF At infinity Highly magnified Real and inverted
Between F and P Behind the mirror Magnified Virtual and erect

eungpeflen flemen Slibug e Hlemen WibugHlem siemey UibugFlsn geinemo
Frifleons Osmenauailsy F @6b Blsé fug semedipnent ol (ibLid
C & siiume) C &©h F @b BeoLuled) | Arflug) seneaodipnent GUolls ibLid
C 86 C 8¢ eunmefler sieney Bmeslb | Heneodipmen slol Wibub
CéwbF &eb BemLuls |C &§ siwiune euflwg HemeSipmeot GuolLl (TibLud
F @6 Fflsons GiEnemenaied lstieudiug) sewaodipmen euolll fibLid
F &b P @b SemLuled | spioéb@L sreommed euflug Gmrmen Lomw ibuib

57.

=) SETEy S0 H el Qua bo
hemb Blom m Length metre m
Hlemm &Baondlgmid kg Mass kilogram kg
Se0LD elileormg . Time second s
E‘IEI!ILIJLElﬂZ:E\J - E‘Iﬁ:ﬁ}ﬁﬁlfiﬁT K Temperature kelvin K
LlerEearm_LID Syt iy A
aun [‘r_ljﬁlﬂﬂh Siaey Guones ol Electric Current ampere A
QEﬂéE‘I Frey Gasesmmasom od Amount of Substance mole mol

Luminous Intensity candela cd

58. - —

) uedony £_Geonsid HiGaomsb
Siemm eleull Hleneouish Swiiifwsd EILITE e Hlemol Sletomiold, Slreulb, eumuy
Hemen (#fleo Groriusafled Slreunb)

FHSLITE LOTMID SHEITemno Silq S@GDELNS) HSLTE mmb EILIE 51T GILDEDT SLOLLIN 60T &)

SHEDEDE) D SO San lGULIE]

SIS BemD SeiTemio BpssiumbGurg sohuns GILITEHIEUTS GILDEDTSHLOLLIN T 8
BiemsLh SIEDEDF] £SO S lgU 1T

Hlesono Hemsoufish BEmhmip LSTUST(L| £ &ML LLIsmel usmIusmILIH M em e

2_hShlemen ST EEUNS Siflsb CILITE QTS (FHEDMeY

a&n# Flemen BT EEUNS SiFlsb CILITE|EUTS (FHEmDEY

SILIT &5 LT EEUNS SiflHb CILITHIEUTES (HEmDEY

ElauILLD WD OlTamILD SLSHID HInedr | HHSL &HHlsar aiflFlmsL &&l seir
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Property Metal Non Metal
Physical Usually solid Solid
state at room (Occasionaly 1i l._:.ln.’.i or cas
temperature liquid) = =

Poor (Usually

Malleablity Good soft or brittle)

Poor (Usually

Ductility Good soft or brittle)

Melting point | Usually high Usually low

Boiling point Usually high Usually low

Density Usually high Usually low
Conductivity

(Thermal and | Good Very poor
Electrical)
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58.
%)
a Baking soda Sodium, Hydrogen, Fire extinguisher, preparation of
Carbon and Oxygen baking powder and preparation of
cakes and bread.
b Bleaching powder | Calcium, Oxygen and As bleaching agent, disinfectant and
Chlorine sterilisation of drinking water.
c Quick lime Calcium and Oxygen Manufacture of cement and glass.
d Sugar Carbon, Hydrogen and Preparation of sweets, toffees and fruit
Oxygen juices.
31 @uom’_1q & @&mgq.wib, cmemL’_TeR6dT, Bwenerd @b FNshiseflenb, Gud Sk
Gam_n SMiueST LhHMIb ueyLii swrfluSlepb, @sé, Gom_1q
8 &FlgnedT swrfludlepidb vwesTu® Slm G
S Fouemoud HiteT | SrcoFIID, <, Eepedt Fouemoud @smpHleSley
wHmib &Gemmflesr @ouEBUUNETT& 6D, S(HLO]
Brfleoflwnseab, G Hi
&551&fluSlepid LwesTup Slmg).
S &L L& SnevFwb WwhHmIb SO 6toTL_ WHMID & 60T GUOTITLG.
& 60T GOOTITLDL <& Elencdt swmiliGleb vwesTu®B Him&.
[ i &8 601 SMIUGHT , HOML_TER6OT Seofluyselr, WO L mMisET, L& ETmIsSeT
wHmID < &Henedt swfléast uwestu®h Slms).
59.
)

Dicot Plants

Monocot Plants

Seed has two cotyledons.

Seed has only one cotyledon.

Plants have tap root system and leaves are with
reticulate venation.

Plants have fibrous root system, and leaves are
with parallel venation.

Flowers are tetramerous or pentamerous. Calyx
and corolla are well differentiated.

Flowers are trimerous and not differentiated into
calyx and corolla.

Pollination occurs mostly by insects.

Pollination occurs mostly by wind.

Examples are: Bean, Mango, Neem.

Examples are: Grass, Paddy, Banana.
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S N Slemev Hreunmhiser

R NSSlemev SHTeurhisserr

Nevsser, Sreor(| 6Slemgullemevscmerd

@\&1m6e0oT1q (1H & S 65TM GOT.

Nens, H lemsuilemncveniids
@& egor (h 6iToTS)-

By peflGouidh OHME&UILL soyb,
auemevll§ledTeotev HIbUmID6| GI&T6soTL

860608 OHL gD Snesoriu(jh &Hlesrmeor.

S Hnaurbiser, #6060 Gouis OHMESULIL e,
Soneror) Guiné @ BIDUEHLDG] O&TEHoTL
86068 OHLGID Snesoriu(jh &Hlesrmeor.

LD6VIT&HOIT [BITEOT (G DI6L6VE) BIHG)
SNBISHIGmETSH OSTEOTL (H&(EHD. DM,
ST HmID LeveS) ereor Eesor(h

DB HGsommal SIflss0ur_(H erereor.

LDGVIT&H6IT PLPGOT M) DiThI&HBIS 6T E
@as1metor (i iTemeoT. S16v6edl WHmID Leved
8swadr Giflssturmocv 6@ au L &&lev
oIS (158 E1D.

waIHeE CFisbemnas GUHLUTEID L & &l&ei

eould oL CUMISIDE.

waIbHeE CFisbemnas GUIHLUTEYID &THMlesT
epould HemL CUMISIDE.

61.5IT. Sieuemi, WMo, Geuliuwmb

61.&IT. 1|6V, GIH6L, IMEmLD

59.
=) - Inhalation Exhalation
The musdes of the | The muscles o the
2 _srellsnens senssel | 2_sIalsnans Heansonear diaphragm contract. | diaphragm relax.
S5 hIGETment B AwienL Sledmenr. The diaphragm goes | The diaphragm goes
o spefisnemb o seflsnemd downward. upward.
EpCrnéd peidng | CoaBonéd haidng The ribs move _

LN The ribs move
efleo ergubLme Guoed v eTELDLEET upwargp downwards.
Grnédd eeefiiynupbd | SpCHTédl outwards.

T SeTDEDT. &1 SleoTmeDT. The volume of The volume of
LomyLsmmuTeT G\EmeTenames| | LomTUsmmulsiT thoracic (chest) thoracic (chest)
siflaflsEng GlBTeTeNaTeY GHemmEDG. cavity increases. cavity decreases.
SMHn) cpddletr auflung | smbm) et aufiuns ‘A enters the lungs Air goes out of the
HIEDIUITISSET miemruineSleSi b el i lungs through the
iSRS S, eeuaflGunifing.. nose.

60.

=)

Contractile
vacuok &

Membrane —
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60.
<)

—— el eeuerflliuLeoid
Sreud Gamymiie
aflfl3Hewy
unfemeuls yerefl
umevaus S0
(s@Lolyeraf)

LM eme BTl

SNMIGHDDE
feiT &6vTETOTEDMD H[T6ULD

Sclera

Aqueous
Houmour Choroid
Retina

Cornea —

Fovea

Optic disc
Blind Spot

Pupil
Lens

Iris
Conjunctiva —
Ciliary body

Suspensory ligament Opticnerve

Vitreous
Houmour
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